Multiplication Problems
a) There are 6 pencils in a box. How many pencils are there in 3 boxes?

b) Each car holds 4 people. How many people can fit in 6 cars?

c) There are 6 eggs in each box. How many eggs are there in 5 boxes?

d) Flowers are arranged so that there are 12 in each row. How many flowers are there 2 rows?

e) Motorbikes have 2 wheels. How many wheels do 14 motorbikes have?

f) Smarties are red, blue, green, yellow, pink, orange, purple and brown. If there are three of each colour, how many Smarties are there altogether?

g) Tricycles have 3 wheels. How many wheels are there altogether if there are 12 tricycles?

h) There are 24 biscuits and 3 children. How many biscuits can each child have?
